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&5 EH B | RHEE 4A14R 5H13A 6A10H 7A13R 8A19A 9F16A 10120 1LA11A 12H9H 1A128 2H17H 3A10R N BoIME T A0 %i% ﬁgﬁé
1| f8/ml | 100f8/mlLAF 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 -
2 | XBE milanzoy|l AR i T i) i H T g N das AR g AR R = = =
3 |HRIVLARVEDAH mg/l | 0.003LLF | 0.00037{# - = 0.00031# - = 0.00037K 7% - = 0.0003 1% - 0.0003%7#%5 | 0.00037i#% | 0.00037H | 0.0003KH
4 |KERVCEDEH mg/l | 0.0005LLF || 0.000057 1 = - 0.000051# = - 0.000051#% 0.00005K 7% - - 0.0000554%# | 0.000052K4# | 0.0000571% | 0.000057
5 |ELURUEOEY mg/1 0.01LAT || 0.001K¥H 0.00 135 0.001 1 - - 0.001 K 0.001K% | 0.001K¥WH | 0.001K7W | 0.001K¥H
6 |BERCEDIEY mg/1 0.01LATF || 0.001K7H - - 0.001FK1# . 0.001 KT - 0.001 % - - 0.001K% | 0.0015&M | 0.00LKW | 0.001KiH
7 eRERUEOEY mg/1 0.0LELTF | 0.001K 0.002 0.002 = 0.001 2R 0.002 0.001 K7 = 0.001 7%
8 |ANrasbiiy mg/! 0.025LF || 0.002Ki - = 0.0025K 1 - = 0.002K:7% - = 0.0024{# - = 0.002:R7% | 0.002:K% | 0.002K%E | 0.002HK: =
9 |AYBLREZER mg/! 0.04LATF || 0.004K7H% 0.004K T 0.0045 = E 0.004:# 0.004Ki¥% | 0.004K¥% | 0.004K¥ | 0.004%kKH
10 |7k 4 s RO T mg/] 0.0184LF || 0.001K¥ = - 0.001R7% = — 0.001A = 0.00 1K1 E - 0.0012K% | 0.001K% | 0.001%WH | 0.001K7H =
11 |HESREE R R O EREBEEE R mg/1 10T 0.5 0.5 0.3 - 0.4 0.5 0.3 0.4 0.7
12 |[7yvRRCEDEY mg/1 0.8LLTF 0.08K:7 = = 0.08R 1 = - 0.085K1# - 0.08k 1 = - 0.082K7# 0.08 %4 0.08K1H 0.085K 1 =
13 |FRURERCEDOEY mg/1 1LOLLTF 0. LR 0.15R7% 0.151% - - 0. 1A% 0. 17 0. 1573 0. 141 0. 1R
14 |t kR mg/l | 0.002LATF || 0.0002K7% - - 0.0002% 7 - - 0.00024 % - 0.00025K 7 - - 0.00025&% | 0.000277 | 0.00027# | 0.0002 -
15 (1,449 mg/ 0.058AT || 0.0055k1 0.005K {5 0.005 1 - - 0.005K¥ 0.0055k7 | 0.0055k¥ | 0.005K% | 0.005%K7%
16 [va-L2vsan=girputsr a1 e-vrmzrie | mg/] 0.042LTF || 0.004747% - - 0.0045T% — - 0.0045k 7% - 0.0045K7 - 0.0043k% | 0.004k% | 0.004K¥% | 0.004%KM -
| 7 |PraaAse mg/1 0.02LLTF || 0.0025%7% 0.00245# 0.002%1% = = 0.002K:5#% 0.0025K7 | 0.0025&% | 0.002K% | 0.002Kiw
. |FrS/unFL mg/1 0.01LLTF || 0.00055i#% = = 0.00055 - = 0.0005% = 0.0005KR 1 = = 0.00055%7% | 0.000557 | 0.0005# | 0.00057K{H =
19 |NZapxzFLy mg/I 0.01LAT || 0.0014% 0.001K7 0.00 1R = 0.001 K = 0.001K%% | 0.001K¥HE | 0.001K%HE | 0.001AH
20 |~Br mg/I 0.01LAT || 0.0015K74 - = 0.001 i == - 0.0017R7% = - 0.001 K = - 0.001K%#% | 0.001K% | 0.00LKW | 0.001FKH
21 |EEEE mg/! 0.6LLF 0.06:K7 - 0.06 0.12 - 0.063T - 0.12 0.06K1# = 0.14 -
Py U4=1=1113" 3 mg/! 0.02L4TF || 0.0027K = 0.002K 7 - - 0.002:K 7% - - 0.00277 - — 0.0025R%% | 0.002& | 0.002K¥W | 0.0027kKiH
23 |7meEis mg/| 0.06LLTF || 0.006K7 = S 0.020 0.017 0.006K1H = = 0.020 0.0065k 1% = 0.009 -
24 |V mg/1 0.03LLF || 0.003F4im 0.005 0.005 - - 0.003K7 . 0.005 0.003K715 : 0.003K1H
PEI PaZa=E = d=1=F ¥ 0% mg/ 0.1LLF 0.01K17% = - 0.01 K - - 0.012K% = 0.012k%% 5 - 0.01 K1 0.0 LT 0.01K1H 0.01K 1% =
26 |E e mg/1 0.01LATF || 0.00157 0.0017% 0.001 = 0.001 1 - 0.0015K%% | 0.001>K¥ | 0.001KW | 0.001K7W -
27  |#RY NmRAE mg/1 0.1LAF 0.01K 1 = = 0.02 = = 0.02 - - 0.017# = 0.02 0.01K T 0.01 =
PR [NJPg==T 1 mg/ 0.03LLTF 0.005 - - 0.016 0.007 0.003: i - 0.016 0.003 1% ~ 0.008 -
29 |TmEVrORAZY meg/1 0.03LLF || 0.003K% - 0.0035K1# - 0.003K1% - 0.003&1% £ 0.00337 | 0.00373% | 0.003K¥ | 0.003K7H
30 |FaEsrs mg/1 0.09LLF || 0.00943 - - 0.0091#5 = - 0.009K:7# 0.009 7 - - 0.009K% | 0.009K¥ | 0.009K¥% | 0.009K7H -
31 |Rs7mrser mg/1 0.0854F || 0.008ki 0.008R T 0.008% i - 0.0085K 1% 0.00857% | 0.008# | 0.008%kH | 0.008KM -
32 |EHRUEONAY mg/I 1.OBLF 0.04 - - 0.02 - - 0.01 - 0.015R 1 - - 0.04 0.0 1K1 - 0.03 -
33 |TNAI=TARTEDAEY mg/! 0.2LLTF 0.03 - - 0.18 0.12 0.06 - 0.18 0.03 0.10 0.04 -
M |BERUEDOEY mg/1 0.3LLF 0.04 - 0.04 0.03kR ¥ = - 0.03K% = 0.04 0.035K 14 - 0.04
35 |HERUEDLEY mg/! LOLLTF 0.025K 14 = - 0.025K:1H = - 0.02:K 1% 0.025K:1% - - 0.02R1#% 0.025R 7 0.02K3% 0.025:7% -
TN ARCEDLEY mg/! 20084 T 3.6 3.4 3.5 3.1 3.6 3.1 3.4 3.3
T | RUBEDEY mg/ 0.05LLF | 0.0057Kiw = - 0.005KTH = - 0.0051 0.0051 = - 0.0055K¥ | 0.005KR¥# | 0.005Ki% | 0.005K7 -
38 | kA mg/! 200LAF 2.1 1.9 1.5 1.6 1.7 1.8 1.8 2.1 2.2 1.9 2.0 2.0 2.2 1.5 1.9 3.5 -
39 BN A TR N (REE) mg/1 3004 F 16 - - 20 - = 19 13 - 20 13 17 16
40 |EREEY mg/1 50084 61 - - 31 59 E 40 - 61 31 48 60 -
41 |farA REEEA mg/1 0.280F 0.02K = - 0.02:K7% = - 0.025 1% = 0.02R 1 - 0.025R {5 0.02K % 0.02R 1 0.02 1
42 |z mg/l  ]0.00001 L4 F 0.000001 i - 0.000001 71 | 0.000001 % | 0.00000 1% | 0.000001 71 | 0.000001 0.000001 5% - 0.000001 574 | 0.000001 53 | 0.000001 45| 0.000001 A& 5 -
43 |2-AF ARV A —IL mg/l  ]0.00001LLF|| 0.000001 5K 0.000001 3% | 0.000001Ki# | 0.00000177 | 0.0000017# | 0.000001FK:# 0.000001 R = 0.000001 55 | 0.000001 5K | 0.000001 445 0.00000 1 A
44 |FEAF T RETEER mg/! 0.02BLF || 0.002%Kim = - 0.0024:5#% ~ 0.0027R1 0.002K 1% - - 0.0025R%# | 0.002R% | 0.002KW | 0.00277H =
45 |7x/—/ 48 mg/l | 0.005LAF || 0.00055K1# 0.00057 1% = 0.0005K 7% - - 0.0005K# - 0.00055R1#% | 0.00057{# | 0.00057H | 0.0005%K1H
46 |HiEM (LHERIRE (TOC) DE) mg/1 LT 0.3 0.3 0.5 0.7 0.7 0.6 0.4 0.5 0.3 0.3 0.3%% 0.3R7H 0.7 0.3k 0.5 -
47 |pH1E 58508 650 7.4 7.4 7.5 7.4 7.3 7.5 7.5 7.5 7.5 7.3 7.3 7.4 7.5 7.3 7.4 7.3
48 % = BETanzy| BRERL EEmL BERL Byl BEL BERL BERL Bl BERL BERL RERL BERL -
19 |EK gEThNIY| B¥EARL RERL RERL BERL EHEL BERL Bl BEeL HERL BERL HERL BELL =
50 |E&fE B |spTesss] 0.5k 0.55K 7 0.6 0.8 1.1 0.5 0.5 0.5 0.5 0.5k 0.5 0.5 1.1 0.5 0.5
51 |&RE B e TFopasd| 0.1k 0.1 0. 1K 0. 17 0.2 0. 14 0.12R7H 0. 11w 0. 1K 0. 1K 0. 1K 0. 1A 0.2 0. 1 0.1
— | KEERCEENLVIER
—  |kiE © 13.2 14.9 19.1 19.9 21.7 20.4 19.1 13.8 9.9 5.4 4.2 6.2 21.7 4.2 14.0 23.6 -
KR °C 21.6 14.5 24.5 22.8 26.4 20.1 21.0 12.7 8.5 1.5 1.2 7.0 26.4 1.2 15.2 32.0
e mg/| - 0.6 0.2 0.1 0.3 0.2 0.4 0.5 0.5 0.8 0.6 0.8 0.8 0.8 0.1 0.5 0.8
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